PART I





Fe3+(aq)     +     SCN-(aq)  (     FeSCN2+(aq)
       colour:            _________        _________        _______________
Table 1 – Stresses in the iron (III) thiocyanate ion equilibrium 

	Reagent Added
	Ions added
	Ion that caused shift

(if any)
	Observation (colour change)
	Direction of Equilibrium Shift

	KCl 

(test tube B)
	
	
	
	

	Fe(NO3)3  (C)
	
	
	
	

	KSCN       (D)
	
	
	
	

	NaOH      (E)
	
	
	
	


PART II



   Co(H2O)62+(aq)       +      2Cl-(aq)      (       Co(H2O)4Cl2(aq)        +     2H2O(l)
      colour:       ______________                                        ________________

Table 2 – Equilibrium Involving Cobalt (II) Complexes

	Procedure

Step
	Predominant

substance: Co(H2O)62+ or Co(H2O)4Cl2
	Stress
	Observation (colour change)
	Direction of Equilibrium Shift

	Step 2
	
	addition of HCl
	
	

	Step 4
	
	Addition of H2O
	
	

	Step 5
	
	(Heat)
	
	

	Step 6
	
	(Cool)
	
	


PART III

                             2CrO42-(aq)        +       2H+(aq)       (        Cr2O72-(aq)       +        H2O(l)
       colour:    ______________                                     _____________

Table 3 – Equilibrium Involving Chromate and Dichromate Ions

	Procedure
Steps

2 & 3
	
	0.1M K2CrO4
	0.1M K2Cr2O7

	
	Initial Colour
	
	

	
	1M NaOH added
	
	

	
	1M HCl added
	
	

	Step

4
	
	0.1M K2CrO4
	0.1M K2Cr2O7

	
	Initial Colour
	
	

	
	1M HCl added
	
	

	
	1M NaOH added
	
	

	Steps
5 & 6
	
	Initial Colour
	+1M NaOH
	+0.1M Ba(NO3)2
	+1M HCl

	
	0.1M K2CrO4
	
	
	
	

	Steps 
7 & 8
	
	Initial Colour
	+1M HCl
	+0.1M Ba(NO3)2
	+1M NaOH

	
	0.1M K2Cr2O7
	
	
	
	

	Step 
9
	
	0.1M K2CrO4
	0.1M K2Cr2O7

	
	Add 0.1M Ba(NO3)2
	
	


